INPUT-OUTPUT

Trdor: <= & T SRR BT ST St ] Ry T

Tl T ST SISl

Teh U, 3R G 1 oHereell i el 7eiia | w/d v

3R Gt i $YE oA < S 2, il 9F ekt WU Th A
o™ 1 UTe Y0 gU I JeAateerd Sidl €1 Hie $9e 3R

e T U ST T e )

¥4 : pastback 3247 19 own fear 25
=ROT 1. : 19pastback 3247 own fear 25
TROTIL. @ 19past25back 32 47own fear
=T II1. : 19 past25 ownback 3247 fear
TROTIV. : 19past25 own 32 back 47 fear
=UT V. @ 19past25 own 32 fear back 47
=OT VL. : 19 past25 own 32 fear 47 back
=R VI S =)o R

TR =Tl SR e @ SR e T

e ¥ XU T $9Ye & forw sfea =ror @1 gar amsw)

L.

Teh UL ST OROT 11R: 21 win tyre 46 39 case file 51
Treferfead o § e =)o VIE?

1) 21 win 39 tyre 46 file case 51

2)21 win 39 tyre 46 file 51 case

3) 21 win 39 tyre file 46 51 case

4) 21 win 39 tyre 46 case file 51

5) 5T | HE T

$YS: 83 42 bench lower 13 upper floor 37
Frefefed & @ wFEn =07 H1gm?

1) 13 upper 37 83 42 bench lower floor

2) 13 upper 37 lower 83 42 bench floor

3) 13 83 42 bench lower upper floor 37

4) 13 upper 83 42 bench lower floor 37

5)%T o i TEl

Weh $19E <hl =0T ne: 27 ultra open case 45 35 now 12
FrreAfertaa & @ e Hivea ®9 9 3792 272

1) ultra open 27 case 45 35 now 12

2) open case ultra 27 45 35 now 12

3) open case 27 45 35 now 12 ultra

4) Frerifia ¥ feman S Sehan @

5)%T 9 *rE T

$9e: case over 12 36 49 long ago 42

Frafafea o @ s wvor $ifaw 9 et aren gm?

Hv 2)VI
vl 4Vl
5)5TH 9 HIE el

5. $74e: judge retire home 62 53 41 34 task
TH e &l QU H & AT foha == sterve gin?
16 2)5
3)4 4)7
5) 3T o g T
6. ek Y oR1 TROT IVE : 24 stop 27 pick 94 85 76
bring down
T oo &1 0 H % g @ik fhae =1 o ?
12 2)3
3)4 4)5
5) T o wig T
7. ek $TUE oI oROT I E : 17 vice 22 85 and car oil 42
T oo &1 0 H % g @ik fhae =1 o ?
13 2)4
3)5 4)6
5) T o g T
Frrdor: Freaforfad SRt 1 SR STeeA HIfe 3R
T T gl % W S

T I 3R T saeel HeiiA, e 3R Gemst i

TS TIYE A4 T M W U =101 § T foer fom o1
AT I EC I= : HHI) Bl T

ERRCS : quick fire 15 28 39 war 19 yellow
=OT 1. : Yellow quick fire 1528 39 war 19
TROTIL. : Yellow 15 quick fire 28 39 war 19

=T 1. : Yellow 15 war quick fire 28 39 19
TROT IV, : Yellow 15 war 19 quick fire 28 39
=ROT V. : Yellow 15 war 19 quick 28 fire 39
PR =ROT V ST TGS 1 SAfTH =00 7

319 : down 25 42 18 plank wood peck 34 fefafaa
H g i @ | @ e %1 =Ror g 2

INNY% 2)VI

3)IV 4 VIl

5) 3T o g T

FTUE : age die 72 53 35 hold goal 26 eHaEN T4 T
% fau frae =/oT eTawa giM?

1) =R )

3)B' 4) 9

5) T o g T

3
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10.

11.

12.

Teh 39S <hl =0T II% : 1292 for 81 always 36 home
=R VII frefafed § 9 i @ grm?

1) win 12 home 36 for 92 always 81

2)win 12 home 62 for 81 always 36

3)win 12 home 36 92 for 81 always

4) =07 VIIErm g =&l

5) T ¥ &g T

S92 1 =00 111 : train 23 star 61 32 fall hard 53 Fefeiiaa
o 9 @ o fifved &9 9 g ®72

1) star train 61 23 32 fall hard 53

2) 61 star 23 train 32 fall hard 53

3)23 star 61 train 32 fall hard 53

4) Trenifie =&t femen T ok &

5) T | g T

Teh 19 <l =R01 11 : zebra 12 bank carriage 46 31 29
dusk Fretfefea o & = @1 =wor sifam o g =rm?
VI )V

3)Vil 4)VIII

5)5TH 9 HIE el

Fredor: Freferfaa gemei 1 FeergEs ST &

oyt & s S

T AU o HAH H, S W o {5 T U e T

o oM % ded Yo WO § % oA w21 :
e & Y2 3R =0 & gui frefatad 21

13.

14.

3qe: all that glitters is not gold but silver
=T 1:  but silver glitters is not gold all that
=UT2:  but silver not gold glitters is all that
=UT3:  silver not but gold glitters that is all
=UT4:  silver not glitters that but gold is all
TIUTS:  not glitters silver that but all gold is
=UT6:  not glitters but all silver that gold is

afg wieel R almost every week we celebrate some
family function” &1, T SHHT ST R 1 M7

1) celebrate week almost family every function some we

2) week almost celebrate family every we function some

3) celebrate week every function almost family some we

4) some we every function almost family celebrate week

5) 378 9 g T

¥19< “make hay while the sun or moon shines” g,
TER! Haal W fAfafed o 9 F gm?

1) sun moon while make shines or hay the

2) while moon shines the sun make hay or

3) sun while moon make shines hay or the

15.

16.

17.

4) while moon sun make shines the hay or

5) 3T | ®FE T

If 792 “our villages are totally committed only to
agriculture” 1, dl =er R4 &1 M2

1) committed are agriculture villages to our only totally
2) agriculture committed are villages to only totally our
3) agriculture committed to only villages totally our

4) committed are to our agricutlure villages only totally
5) T | wIE T

% 3792 “is replaced your defective get it if booklet™ =,
q qreat R 1 B2

1) booklet get your replaced if it defective is

2) get your booklet replaced if is it defective

3) get your booklet replaced if it is defective

4) get your if is booklet replaced it defective

5) 378 9§ HIE T

Rk EUSRY T “doctor away keeps the a day an apple”ﬁ,
T i=en 29 41 32

1) a doctor keeps an away day apply the

2) away keeps a apple doctor the day an

3) keeps a away apple doctor an the day

4) keeps a doctor an away apple the day

5) 3T o whig T

T Frefafed SHER &1 sargEs otegem e fag T

W@WW:

Tk U 3R G suaeen e, v R s &

T Y 4 fRU 9H W, T =0 H Th @9 |
1 ST H T S (TG Hid B TAqe 3R
YA 1 Tk SEEW AW A T R

¥19Z  : shop 17 table 20 53 oven desk 39
TRUT 1 : 17 shop table 20 53 oven desk 39
TOTII : 17 table shop 20 53 oven desk 39
=IOT III ¢ 17 table 20 shop 53 oven desk 39
TRUT IV : 17 table 20 shop 39 53 oven desk
TRUTV : 17 table 20 shop 39 oven 53 desk

3R =01 vV eifm W ©

IR =N H ARA Fmil & oguR, e fku U @

T H fiu T e & fu Swe WU 1 udr @hmeT,
18. T2 “89 bind 32 goal house 61 12 joy’ 3§ aEe i

U & § fordd =1 @ 2

1) =R 2) ™=
3) B8 5) @
5)s 9 B e

3
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19. T TGS H1 WO 11 B : “15 yes 62 51 48 talk now
gone’- =0T VI Trefefaa & 9§ sH-@1 g 2
1) 15 yes 48 talk 51 now gone 62
2) 15 yes 48 talk 51 62 now gone
3) 15 yes 48 talk 51 now 62 gone

4) TE HE RO A B
S)T™ o @i e

20. Weh 39S <h! =T III 2:21 victory 30 joint 64 47 all
gone’- 38 TR H W HH § IR fHad =
a2

1) = 2) TR
3)dr= 4) B8
5 % ¥ ®IE T

21. gYE: ‘win 92 task 73 59 house range 34’ ERNER ESCA
T T [V HE-H B ?
1) 34 win 59 task 73 range 92 house
2) 34 win 92 59 task 73 house range
3) 34 win 92 task 73 59 house range

4) TEN HE WWOT TE R
5) T W wE T

22. 3192 : ‘save 21 43 78 them early 36 for’ Fr=Afafea o
¥ HE-T offay ¥ Ted aren WO em?

1) VI 2) VI
3) VIII 4V
5)3TH 9 g el

23. FTYE : “desire 59 63 all few 38 46 zone’ T ITeHaE
H W HE F fau fmat =wor @ 2

1) TR 2) o=
3)BE 4) 9
5) 3™ ¥ B Tl

Trdor: frfofaa St 1 9= o dfew @R fag T
I3l & ST ST

T I IR GEAT i e HE el T | v IR
IR Gt i SgE oA < S 2, < 98 ks SR Th @
1 1 9o A gU SR qAeare ST 81 A $ge 3R
e T Uk IR0 A T R

$T9S:  nine poll 19 34 12 69 hour call

=RUT I:  call nine poll 19 34 12 69 hour

=OT II: call 12 nine poll 19 34 69 hour

=ROT III: call 12 hour nine poll 19 34 69

=T IV: call 12 hour 19 nine poll 34 69

=OT V: call 12 hour 19 nine 34 poll 69

R =0T V SIS YL 1 oo i A =1 2

S Al e PR A S AR
e ¥ f{u MU 3qe % forw 3faa =Ror k1 war @
24, T TIYE 1 =11 R : bend 15 will care 46 53 29 then

e 1 0 HE & e $iR e =1 wifg?

= 2)dA
3)aR 4)TT
5) T4 o HIE T

25. gTYE: land 62 clear over 41 37 again 56
=1 9 % @ Sifaw | T =R grm?
1) vill 2)IX
3)VII 4)VI
5) 3T o g T
26. Teh $TYE hl =00 12 desk 12 year victor 86 71 store 65
21 & ¥ 1 W =0 VIIE?

1) desk 12 store 65 year 71 victory 86
2) desk 12 store 65 71 year victory 86
3) desk 12 store 65 year victory 86 71

4) U1 HIE =01 T B
5) 3T o g T

27. $TYE : earn 39 23 48 station 19 begin day
el &1 g0 ® & fau o =wor =nfew?
1)d= 2) |
3) 373 4)s8
5) T o g T

28.  Weh 39S <hl =T III: and 25 jungle 93 84 kite more 36
fret & @ e @ fifved ®9 9 392 272
1) 93 84 kite more and 36 25 jungle

2) 93 84 and 25 kite jungle more 36
3) Jungle 93 and 84 25 kite more 36

4) Tmifta =21 foran T wehan

5) 3T o ig T

Trdor: freferfea STHet 1 oam 9 afen iR Ky T
W@WW:

I SR T 1 S HiA Al 7Y o o v 3K
et 1 T1Y2 e € S €, df 98 &% =10 Tk @
Frm 1 TeH H gU S% qHeiafed H ¢ i $ge oK
YeHEE] 1 Teh ST &1 T R

39S 96 gain 63 forest 38 78 deep house

=ROT I:  deep 96 gain 63 forest 38 78 house

=OT II:  deep 38 96 gain 63 forest 78 house

=0T III: deep 38 forest gain 96 63 78 house

=IUT IV: deep 38 forest 63 gain 96 78 house

=IOT V: deep 38 forest 63 gain 78 96 house

T VI: deep 38 forest 63 gain 78 house 96

3R =R0T VIS S92 1 Gedeawen i sifaq =X 71

ST =N H TERa Fradi & R fefafed s
79 ¥ XU T sYe &% fore 3fea =ror @1 ua amsw)

29. 3TYE: train 59 47 25 over burden 63 sky
Frafafed § @ ®F @ ifdw ¥ et aren = gm?

VI 2V
3)IV HVII
5) 3T o g T
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30.

31

32.

33.

$YS: service 46 58 96 over there desk 15

=R VI Frefafed § @ s gm?

1) desk 15 over service 46 58 96 there

2) deks 15 over 46 service there 58 96

3) desk 15 over 46 service 58 there 96

4) desk 15 over 46 service 58 96 there

5) UHT IS =0T & EAM

Teh STYE %1 =T 117 below 1293 house floor 69 57 task
Frerferfad & 9 s Fivea €9 9 392 gm?

1) 93 house 69 57 below taks floor 12

2) 93 house below 69 57 taks floor 12
3) 93 house floor 69 57 taks below 12

4) franifa =&t feman S wehat

5)% o i TEl

Teh T2 1 =0T [ 2: art24 day 83 71 54 star power
TreAfafed o § s sifad =0 gm?

1V 2)vil

3)IX 4)VII

5) T4 9 HIE T

T TGS 1 =R 112 cold 17 wave 69 never desk 52 43
T geee S QU H | R fohed w0 e

1)s% 2) 9
3)=R 4)d=
5) 5T 9 HIE Tl

frder: & s oA g I W weiE A9 s@n T
IER oFafted alth § =l 0 YR SR wemst Wi
e I T

$1YS ©3: 56 dress fine shine 32 66 72 offer

RO 1 72 56 dress fine shine 32 66 offer
=07 11 72 shine 56 dress fine 32 66 offer
=07 111 72 shine 66 56 dress fine 32 offer
=0T IV 72 shine 66 offer 56 dress fine 32
=0TV 72 shine 66 offer 56 fine dress 32
=0T VI 72 shine 66 offer 56 fine 32 dress

wwaﬁﬁw%ﬁf{wwaﬁwsﬁnw%
IR ol | et U freml % eruR, frefafed
yoh 9 A fRu MU sye & fow wmfed wRer @1 owa
AT,

34.

35.

Th FIYS 1 W1 1€ 53 window 42 50 door lock
key 36’ TTE i W HEH H fow iR fhae =l
I STEwARAl BT 2

1) i 2) W)
3) 9= 4) B:
5 %™ @ Wi T

Th TIYS <l =IO [V 2 62 sound 56 sleep roam
present 33 49°. Tf¥=@ &9 ¥ T F TM ?

1) sound 62 sleep 56 roan present 33 49

2) sleep sound 62 56 roam present 33 49

3) 62 sound sleep 56 roam present 33 49

4) fraifa =&t foran < wepa
5) 3 ¥ B Tl

36.

37.

38.

TYE % fog drew =Ror et § 9§ sE-a @
‘jockey firm 36 43 growth chart 22 45°?
1) 45 jockey 43 growth firm 36 chart 22
2) 45 jockey 43 firm growth 36 chart 22
3) 45 jockey 43 growth 36 firm chart 22
4) 45 jockey 43 firm 36 growth chart 22
5)s ° HiE el
Y Y I HfqH SO HE-T1 S R T 0
® ‘63 Sour 18 56 grapes healthy 32 rise’?
DIV 2)V
3) VIII 4) VII
5)s 9 B e
3G TIYE 1 wiEal RO 1 B e qgen =R
785 journey train 36 54 daily 28 mansion’?
1) 85 train 54 mansion 28 journey daily 36
2) 85 train 54 mansion journey 36 daily 28
3) 85 train 54 mansion 36 journey daily 28
4) tE wE WO T ®
5 %™ 9 &g
TE9r: e & T ST BT HegEe et Y e T

T & S Sl

= U T Hiqeer =RoT 1 S I gU TS AR

U ST R Tk HIfET w9 $7Y2 1 qedareerd & 2

39S : 47 desert go 56 there often 32 12
=UT 1. : 47 desertto 56 there often 32 12
TUT II. : there 47 desert go 56 often 32 12
UM IIL. : there 12 often 47 desert go 56 32
TOT IV. : there 12 often 32 47 desert go 56
TROT V. : there 12 often 32 go 47 desert 56

TROT V oh! S i ST € SR =R V S =R 2
ST IR0 H FHAT T 70} 1 STTEROT Hd g

e U T g g9 o qedee wi T 2

39.

Th 319 bl el =01 © 'wonderful 22 seashore 36 48
fine 62 morning', T T =0T T AT7

1) fine 48 wonder 22 seashore 36 62 morning

2) fine 48 wonderful 22 36 seashore 62 morning
3) fine 48 seashore wonderful 22 36 morning 62
4) fine 48 seashore wonderful 36 22 morning 62
5) fFrenifta =&Y foman 1 wepan ©

frefafed s79e & faw g@a ==or @ grm?
39S : paper common 36 51 pencil 28 test 66
1) test 28 paper pencil common 36 51 66

2) test 28 pencil 66 paper common 36 51

3) test 66 pencil paper 28 common 51 36

4) test 28 pencil paper common 36 51 66

5) T o g T

3
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41.

42.

43.

Teh 319 <1 =T 11 [ 'waive 14 available time 38 46
probation 85', 59 SHEE i U A o foIw @R fera

=0T TN ?

1)d= 2) ¥R
3 H
5) T4 9 HIE T

$TYE "27 sports 48 television commentary 18 house
36" T SfcH =0T <RI B2

1510% 2V

3)VI 4)VII

5) T | g T

$q2 TSR 9&M =0T "number game 54 23 always
lacking 16 75". SHehT =l =0T 51 €TI7

1) number 16 lacking 23 game always 54 75

2) number 16 lacking 23 always 54 game 75

3) number 16 lacking 23 game 54 always 75

4) Trenifie =&t femen T ok &
5)% o i TEl
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INPUT-OUTPUT

(1-5): The numbers are arranged in ascending order and the

words are arranged in reverse order alphabetically.

Step I1: 21 win tyre 46 39 case file 51

Step II: 21 win 39 tyre 46 case file 51

Step I'V: 21 win 39 tyre 46 file case 51

Step I'V: 21 win 39 tyre 46 file case 51

Step V: 21 win 39 tyre 46 file 51 case

Step V is the last step.

Input: 8342 bench lower 13 upper floor 37

Step I: 13 83 42 bench lower upper floor 37

Step II: 13 upper 83 42 bench lower floor 37

Step I11: 13 upper 37 83 42 bench lower floor

It is not possible to determine the input from any given

step.

Input: case over 12 36 43 long ago 42

Step I: 12 case over 36 49 long ago 42

Step I1: 12 over case 36 49 long ago 42

Step I11: 12 over 36 case 49 long ago 42

Step I'V: 12 over 36 long case 49 ago 42

Step V: 12 over 36 long 42 case 49 ago

Step V is the last step. Therefore, step IV would be

last but one step.

Input: judge retire home 62 53 41 34 task

Step I: 34 judge retire home 62 53 41 task

Step II: 34 task judge retire home 62 53 41

Step I11: 34 task 41 judge retire home 62 53

Step IV: 34 task 41 retire judge home 62 53

Step V: 34 task 41 retire 53 judge home 62

Step VI: 34 task 41 retire 53 judge 62 home

Step I'V: 24 stop 27 pick 94 85 76 bring down

Step V: 24 stop 27 pick 76 94 85 bring down

Step VI: 24 stop 27 pick 76 down 94 85 bring

Step VII:24 stop 27 pick 76 down 85 94 bring

Step VIII: 24 stop 27 pick 76 down 85 bring 94

Step III: 17 vice 22 85 and car oil 42

StepIV: 17 vice 22 oil 85 and car 42

StepV: 17 vice 22 oil 42 85 and car

Step VI: 17 vice 22 oil 42 car 85 and

(8-12): The words are arranged in alphabetical order but in
reverse order while numbers are arranged in
ascending order alternately.

8.2; Step II: zebra 12 bank carriage 46 31 29 dusk.
Step III: zebra 12 dusk bank carriage 46 31 29
Step IV: zebra 12 dusk 29 bank carriage 46 31 29
Step V: zebra 12 dusk 29 carriage bank 46 31
Step VI: zebra 12 dusk 29 carriage 31 bank 26

9. 3; Input: age die 72 53 35 hold goal 26

Step I: hold age die 72 53 35 goal 26

Step II: hold 26 age die 72 53 35 goal

Step III: hold 26 goal age die 72 53 35

Step IV: hold 26 goal 35 age die 72 53

Step V: hold 26 goal 35 die age 72 53

Step VI: hold 26 goal 35 die age 72 53

Step II: win 12 92 for 81 always 36 home.

Step III: win 12 home 92 for 81 always 36

1.5;

2.1;

3.4,

4.5;

5.1;

6.3;

7.1;

10.5;

Step V: win 12 home 36 for 92 81 always
Step VI: win 12 home 36 for 92 81 always
Step VII: win 12 home 36 for 81 92 always
From any given step input cannot be determined.
Input: down 25 42 18 plank wood peck 34
Step I: wood down 25 42 18 plank peck 34
Step II: wood 18 down 25 42 plank peck 34
Step III: wood 18 plank down 25 42 peck 34
Step IV: wood 18 plank 25 down 42 peck 34
Step V: wood 18 plank 25 peck down 42 34
Step VI: wood 18 plank 25 peck 34 down 42
(13-17): On the basis of given inputs and various steps of
rearrangement we can analyse the rule in the following
ways:
1 2 3 4 5 6 7 8
Input: all that gutters is not gold but silver
Stepl: 7 8 3 4 6 1 2
StepII: 7 8
StepIIl: 8 5
StepIV: 8 5
3
3

11.4;
12.1;

StepV: 5
StepVI: 5
Therefore,
StepVII: 7 5 3 1 8 4 2 6
13.1;
StepV: 5 3 8 2 7 1 6 4

almostevery week we celebrate some family function
StepIl: 7 8 5 6 3 4 1 2
celebrate week almost family every function some we
14.5;
Input: make hay while the sun or moon shines

1 2 3 4 5 6 7 8
Step VII: Moon sun while make shines the hay or
7 5 3 1 8 4 2 6

N 00 W g W
— NN DN
0 3 W W W
N — NN B
NN BB

2
1
1
4
4

15.2;
Input: our villages are totally committed only to agriculture
1 2 3 4 5 6 7 8
Step I'V: agri. committed are villages to only totally our
8 5 3 2 7 6 4 1
16.2;
Input: is replaced your defective get it if booklet
1 2 3 4 5 6 7 8
Step V: get your booklet replaced if is it defective
5 3 8 2 7 16 4
17.3;
Step II: doctor away keeps the a day an apple
7 8 5 6 3 4 1 2
Step V: Keeps a away apple doctor an the day
5 3 8 2 7 1 6 4
(18-23): In the first step, the smallest number
comes to the leftmost position and the
remaining line shifts rightward. In the next
step, the word that comes last in the

alphabetical order occupies the second
position from the left and the remaining line

+91-9350679141
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18. 3;

19. 3;

20. 5;

21.5;

22.5;

23. 2;

shifts rightward. This goes on alternately till
all the numbers are arranged in ascending order
and all the words in reverse alphabetical order
at alternate positions.

Input: 89 bind 32 goal house 61 12 joy
Step I: 12 89 bind 32 goal house 61 joy
Step II: 12 joy 89 bind 32 goal house 61
Step III: 12 joy 32 89 bind goal house 61
Step IV: 12 joy 32 house 89 bind goal 61
Step V: 12 joy 32 house 61 89 bind goal
Step VI: 12 joy 32 house 61 goal 89 bind
Step II: 15 yes 62 51 48 talk now gone
Step III: 15 yes 48 62 51 talk now gone
Step IV: 15 yes 48 talk 62 51 now gone
Step V: 15 yes 48 talk 51 62 now gone
Step VI: 15 yes 48 talk 51 now 62 gone
Step III: 21 victory 30 joint 64 47 all gone
Step IV: 21 victory 30 joint 47 64 all gone
Step V: 21 victory 30 joint 47 gone 64 all
5-3 = 2 more steps will be required.

Input: win 92 task 73 59 house range 34 Step
I: 34 win 92 task 73 59 house range Step II:
34 win 59 92 task 73 house range Step III: 34,
win 59 task 92 73 house range Step IV: 34
win 59 task 73 92 house range

Input: save 21 43 78 them early 36 for
Step I: 21 save 43 78 them early 36 for
Step II: 21 them save 43 78 early 36 for
Step III: 21 them 36 save 43 78 early for

Step IV: 21 them 36 save 43 for 78 early Hence
step III will be the last but one.

Input: desire 59 63 all few 38 46 zone
Step I: 38 desire 59 63 all few 46 zone
Step II: 38 zone desire 59 63 all few 46
Step III: 38 zone 46 desire 59 63 all few
Step IV: 38 zone 46 few desire 59 63 all
Step V: 38 zone 46 few 59 desire 63 all

(24-28): After careful analysis of the Input and various

steps of re-arrangement it is evident that in
each step one number or word is rearranged.
These two steps are continued alternately till
all the words get rearranged in alphabetical
order and all the numbers get rearranged in
ascending order.

; Step II: bend 15 will care 46 53 29 then

Step III: bend 15 care will 46 53 29 then
Step IV: bend 15 care 29 will 46 53 then
Step V: bend 15 care 29 then will 46 53
Step VI: bend 15 care 29 then 46 will 53

; Input: land 62 clear over 41 37 again 56

Step I: again land 62 clear over 41 37 56
Step II: again 37 land 62 clear over 41 56
Step III: again 37 clear land 62 over 41 56
Step IV: again 37 clear 41 land 62 over 56
Step V: again 37 clear 41 land 56 62 over
Step VI: again 37 clear 41 land 56 over 62
Step V is the last but one step.

; Step II: desk 12 year victor 86 71 store 65

Step III: desk 12 store year victor 86 7165

27.

28. 4;

29. 2
(34-38): From the last step it is clear that two alternate

34.

36.

38.

39-43:

Step IV: desk 12 store 65 year victor 86 71
Step V: desk 12 store 65 victor year 86 71
Step VI: desk 12 store 65 victor 71 year 86

; Input: earn 39 23 48 station 19 begin day

Step I: begin earn 39 23 48 station 19 day
Step II: begin 19 earn 39 23 48 station day
Step III: begin 19 day earn 39 23 48 station
Step IV: begin 19 day 23 earn 39 48 station
Step V: begin 19 day 23 earn 39 station 48
It is not possible to determine the Input from
any given step.

30. 5 31. 4 32. 4 33.1
series: a number series and a word series are estab-
lished. The number series is in descending order
while the word series follows reverse order of En-
glish alphabet. The word which appears later in
English dictionary comes first in the word series.
To establish the series first the number having the
highest value comes at the first position and the
rest elements shift one position rightwards. Simi-
larly, the word which appears later in the dictio-
nary comes at the second position and the rest ele-
ments shift one place rightwards.
The process continues until the required series is
obtained.
Step II: 53 window 42 50 door lock key 36
Step III: 53 windows 50 42 door lock key 36
Step IV: 53 window 50 lock 42 door key 36
Step V: 53 window 50 lock 42 key door 36
Step VI: 53 window 50 lock 42 key 36 door
Hence, four more steps would be required to com-
plete the arrangement.
Previous steps can’t be determined because the ma-
chine uses ‘arrangement’ as the logic of the entire
process.
Input: Jockey firm 36 43 growth chart 22 45
Step I: 45 jockey firm 36 43 growth chart 22
Step II: 45 jockey 43 firm 36 growth chart 22
Step III: 45 jockey 43 growth firm 36 chart 22
Step IV:
Step II: 63 sour 18 56 grapes healthy 32 rise
Step III: 63 sour 56 18 grapes healthy 32 rise
Step IV: 63 sour 56 rise 18 grapes healthy 32
Step V: 63 sour 56 rise 32 18 grapes healthy
Step VI: 63 sour 56 rise 32 healthy 18 grapes
Hence, the step VI will be the last step.
Step I: 85 journey train 36 54 daily 28 mansion
Step II: 85 train journey 36 54 daily 28 mansion
Step III: 85 train 54 journey 36 daily 28 mansion
Step IV: 85 train 54 mansion journey 36 daily 28
Step V: 85 train 54 mansion 36 journey daily 28
It is a case of simple arrangement. Look at the last
step. From the last step it is obvious that the words
are arranged according to the reverse order of En-
glish alphabet. Whereas the numbers are arranged
in ascending order. In the final arrangement we
get word, number, word, number,
Now look at the process of the arrangement.
From input to step I, there is no change.
From step I to step II only one element gets arranged.
But from step II to step III two elements get arranged.
From step III to step IV; and from step IV to step V
only one element gets arranged.

39. 5; Since it is a case of simple arrangement we can’t get

40.

4

1st step.

Input: paper common 36 51 pencil 28 test 66
Step I: paper common 36 51 pencil 28 test 66
Step II: test paper common 36 51 pencil 28 66
Step III: test 28 pencil paper common 36 51 66

3
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41. 1; Step II: waive 14 available time 38 46 probation 85
Step III: waive 14 time 38 available 46 probation 85
Step IV: waive 14 time 38 probation available 46 85
Step V: waive 14 time 38 probation 46 available 85
Here, step V is the last step. Hence, only three
more steps are needed after step II to complete the

arrangement.

42. 3; Input: 27 sports 48 television commentary 18 house
36
Step I: 27 sports 48 television commentary 18 house
36
Step II: television 27 sports 48 commentary 18 house
36
Step III: television 18 sports 27 48 commentary house
36
Step IV: television 18 sports 27 house 48 commentary
36
Step V: television 18 sports 27 house 36 48 commen-
tary
Step VI: television 18 sports 27 house 36 commentary
48

Now it is obvious that the complete arrangement is
obtained in step VI. Hence, Step VI is the last step.
43. 5; Step I: number game 54 23 always lacking 16 75
Step II: number 16 game 54 23 always lacking
75
Step III: number 16 lacking 23 game 54 always 75
Here, step III is the last step, therefore the fourth
step can’t be possible.
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